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e.g. Theowner of old fashion Berry Pieis considering adding a new line of
pies that will require leasing a new equipment for monthly payment of $6000,
variable cost $2 per pie, and pie would retail $7 each.

a. How many pies must be sold to break even

b. What would be the profit if 1000 pies are sold

a.  How many pies must be sold to realize a profit of $4000
a Qoep=6000/(7-2)=1200

b. Profit=RevxQ-(FC+V xQ)=7(1000)-(6000+2x1000)=-1000

C. Qgp=(6000+4000)/(7-2)=2000

B.
1. (payback period)
2. (present value)
AB 500000
10%
A B
1 100000 90909 200000 | 181818
2 200000 | 165289 | 300000 | 247934
3 200000 | 150263 50000 37566
4 100000 68301 50000 34151
5 100000 62092 100000 62092
6 100000 56447 100000 56447
593301 620008
3. (internal rate of return IRR)
n CF
CF: t
IRR:
1000
1 500
2 400
3 300
4 100
100 500 400 300 100

+ + + +
@+IRR) * (@+IRR) > (@ +IRR) ° (1 + IRR

IRR=14.5%

4



10 10 10
7 12 12
-4 2 16
a Maximin
10
7
-4
b.Maximax
10
12
16
b.Laplace
30 10
31 10.33V
14 4.67
c.Minimax regret
0 2 6
3 0 4
14 10 0
6
4+
14
0.4(40)=16 0.6(55)=33
\/
0.4(50)=20 0.6(70)=42




$40

-4 $40
QY $50
$55
< $-10
$50
6)
$70
D.
eg. 120000 3%
2000 75 80%
120000 x 1070 =123711 .3 pcs
120000
= 61.855 pcs/per hour
2000
3600 80
X =38.4 pcs
/5 100
_618%5 . o
38.4
eg. 1 4 2 15 40
2 1 40 2
60
_ 4x40 +15 x 6 _ 7 8195

40 x 0.8



VI.

b Inc
y, = & b =~ ——
Y X
a:
C:

eg. a=10hr s = 8¥0 %

IN0.8
y,=10(3) N2 - 702
In0.8
ys =10(5) N2 - 596




